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道順１（基本的なもの）1

【1】(1) 6 (2) 5 (3) 1
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � �

� � � � � �

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � � �

� � � � �

参考 (3) 6 − 5 = 1

【2】(1) 28 (2) 12 (3) 16
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � � �

� � � � � � �

� � � �� �� �� �	

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � � �

� � � � � � �

� ��

参考 (3) 28 − 12 = 16

【3】(1) 84 (2) 18 (3) 66
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � � �

� � � � � � �

� � � �� �� �� �	

� � �� �� �� �� 	�

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � � �

� � � � � � �

� ��

� ��

参考 (3) 84 − 18 = 66

道順１（基本的なもの）2

【1】(1) 7 (2) 5 (3) 2
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � � �

� � � � � � �

参考 (2)

Ｃを通る場合の最短の道順

Ａ

ＢＣ

� � � � �

� � � � � � �

参考 (3) 7 − 5 = 2

【2】(1) 15 (2) 9 (3) 6
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � �

� � � � �

� � � �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � �

� � � � �

� � �

参考 (3) 15 − 9 = 6

【3】(1) 35 (2) 18 (3) 17
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � �

� � � � �

� � � �� ��

� � �� �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � �

� � � � �

� � �

� � ��

参考 (3) 35 − 18 = 17
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Ａ

ＢＣ

� �

� � � � �

参考 (3) 5 − 2 = 3

【2】(1) 28 (2) 12 (3) 16
参考 (1)

各点への最短の道順

Ａ

Ｂ
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� � � �� �� �� �	

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� �

� � � � � � �

� � � � �� ��

参考 (3) 28 − 12 = 16

【3】(1) 20 (2) 12 (3) 8
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � �

� � � �

� � � ��

� � �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� �

� � � �

� � �

� � ��

参考 (3) 20 − 12 = 8

道順１（基本的なもの）4

【1】(1) 7 (2) 3 (3) 4
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � � �

� � � � � � �

参考 (2)

Ｃを通る場合の最短の道順

Ａ

ＢＣ

� � �

� � � � � � �

参考 (3) 7 − 3 = 4

【2】(1) 21 (2) 10 (3) 11
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � �

� � � � � �

� � � �� �� ��
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Ｂ

Ｃ
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道順１（基本的なもの）6

【1】(1) 5 (2) 4 (3) 1
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � �

� � � � �

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � �

� � � �

参考 (3) 5 − 4 = 1

【2】(1) 21 (2) 10 (3) 11
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � �

� � � � � �

� � � �� �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� �

� � � � � �

� � � � ��

参考 (3) 21 − 10 = 11

【3】(1) 20 (2) 12 (3) 8
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � �

� � � �

� � � ��

� � �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � �

� � �

� � � �

� ��

参考 (3) 20 − 12 = 8



ド-663912276解答

道順１（基本的なもの）7

【1】(1) 6 (2) 2 (3) 4
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � �

� � � � � �

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � � �

� �

参考 (3) 6 − 2 = 4

【2】(1) 15 (2) 8 (3) 7
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � �

� � � � �

� � � �� ��

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � �

� � � � �

� �

参考 (3) 15 − 8 = 7

【3】(1) 84 (2) 30 (3) 54
参考 (1)

各点への最短の道順

Ａ

Ｂ

� � � � � � �

� � � � � � �

� � � �� �� �� �	

� � �� �� �� �� 	�

参考 (2)

Ｃを通る場合の最短の道順

Ａ

Ｂ

Ｃ

� � � � �

� � � � � � �

� �� ��

� �� ��

参考 (3) 84 − 30 = 54

道順１（基本的なもの）8

【1】(1) 7 (2) 5 (3) 2
参考 (1)
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【1】(1) 5 (2) 4 (3) 1
参考 (1)

各点への最短の道順

Ａ

Ｂ
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Ａ

ＢＣ
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Ａ
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� � � �
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道順１（基本的なもの）11

【1】(1) 5 (2) 2 (3) 3
参考 (1)

各点への最短の道順

Ａ

Ｂ
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道順１（基本的なもの）12

【1】(1) 7 (2) 4 (3) 3
参考 (1)

各点への最短の道順

Ａ

Ｂ
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� � � � � � �
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� ��
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Ａ

Ｂ
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